Biology Chapter 10: Population Genetics OPEN NOTES QUIZ

Waggy (16 points)
Name_________________
1.  Define Population:

2.  What does a Gene Pool consist of?

3.  What is Relative Frequency?

4.  Does Relative Frequency have anything to do with whether an allele is dominant or recessive?

5.  In genetic terms, evolution is any change in:

6.  What causes the changes in allele frequency in evolution?  

7.  Allele frequency is shown by using a ________ curve.

8.  Where on the bell curve shown below is the fitness stable?  Where on the bell curve is where the fitness varies?  Where on the bell curve does evolution act? (1.5 point)
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9.  Define fitness:

10.  Define Directional Selection:

11.  Define Stabilizing Selection:

12.  Define Disruptive Selection:

13.  Indicate which of the following Bell Curves represent Directional Selection, Stabilizing Selection and Disruptive Selection. (1.5 points)



A.



     B.



      C.
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14.  What is Genetic Drift?

15.  What causes Genetic Drift?

16.  What are the four requirements that must be met in order for a population to reach Genetic Equilibrium?  (2 points)


a.


b.


c.


d.

17.  In order for random mating to occur all individuals must have:

18.  Which gender does the selection of mates?

19.  Give two examples of methods males of a species use to attract a mate? (1 point)

20.  Why must a population be very large in order to reach Genetic Equilibrium?

21.  The movement of a population into or out of a habitat is called:

22.  If enough organisms move, it will change the gene pool.  If this happens then _______________  _______________ cannot be reached.

23.  Why can't there be any mutations in a population in order for genetic equilibrium to happen?

24.  The equation used by scientists to determine whether or not a population has reached equilibrium is the:

25.  Write the Hardy-Weinberg Equation below:

